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Linalyle acetate
Linalool
Limonene
Geranyl acetate
B —Ocimene(E)
Myrcene

Neryl acetate

B —Pinene

o —Terpineol
Geraniol

B —Ocimene(Z)
B —Caryophyllene
Sabinene
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50.890%
21.950%
6.240%
3.310%
2.580%
2.360%
1.850%
1.650%
1.240%
1.080%
0.790%
0.730%
0.260%
0.020%
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Linalyle acetate
Linalool
Limonene

o —Terpineol
Geranyl acetate
B —Ocimene(E)
Myrcene

Neryl acetate

B —Pinene

B —Caryophyllene
Geraniol

B —Ocimene(7)
Sabinene

0 —3—Carene
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B AV A7)
Ferv

o —3-hv

50.890%
25.610%

4.880%
3.930%
2.940%
2.010%
1.610%
1.610%
1.400%
1.270%
0.720%
0.580%
0.550%
0.130%
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Linalyle acetate VFINT 27—k 45.420%
Linalool Jto—n 25.980%
[Limonene VELY 6.100%
a —Terpineol a —TIWVE XA =)V 4.660%
Neryl acetate FINVT X T—h 3.490%
B —Ocimene(E) B -4V A/(E) 2.540%
0 —3—Carene o —3-mvv 2.130%
Geraniol VA= Y 1.840%
Myrcene A4 1.400%
Geranyl acetate FI=VTYT—h 1.240%
8 —Pinene B -t 0.960%
B —Ocimene(Z) B =AY AAZ) 0.760%
Caryophyllene oxide WA T AV AFAN 0.380%
a —Pinene i V4 0.160%
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Linalyle acetate VFINT 27—k 45.800%
Linalool Jto—n 24.120%
Limonene Ve 3.340%
Neryl acetate RINVTET—h 3.000%
B —Ocimene(E) B AV A/A(E) 2.500%
0 3 Carene 63—y 1.890%
Geraniol VA= 1.880%
Myrcene N4 1.400%
a —Terpineol a —TIVE A=) 1.140%
Geranyl acetate FI=NVTRT—h 1.010%
8 —Pinene B -t 0.800%
B —Ocimene(Z) B AV A7) 0.700%
Caryophyllene oxide WATAVAFTAN 0.290%
a —Pinene i V4 0.150%



